
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Multiplikation von Polynomen

(9x + 2)(x + 8x + 8)2 (3x + 7)(2x + 9)2

(7 − 2x (3x + 7)2) (x + 8)(4x + 7x + 7)2

(7 − 2x (3x − 2)2) (7x + 2)(4x + 9)2

(6x − 5)(7x + 6) (2 − 3x)(x + 9)

(2x − 8x − 8)(6x − 1)2 (7x + 9)(3x + 9)
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Multiplikation von Polynomen

(9x + 2)(x + 8x + 8)2

9x + 74x + 88x + 163 2

(3x + 7)(2x + 9)2

6x + 27x + 14x + 633 2

(7 − 2x (3x + 7)2)

−6x − 14x + 21x + 493 2

(x + 8)(4x + 7x + 7)2

4x + 39x + 63x + 563 2

(7 − 2x (3x − 2)2)

−6x + 4x + 21x − 143 2

(7x + 2)(4x + 9)2

28x + 63x + 8x + 183 2

(6x − 5)(7x + 6)

42x + x − 302

(2 − 3x)(x + 9)

−3x − 25x + 182

(2x − 8x − 8)(6x − 1)2

12x − 50x − 40x + 83 2

(7x + 9)(3x + 9)

21x + 90x + 812
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